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PART A — (10 x 2 = 20 marks)

Answer any TEN questions.

Solve the equation 6x®-11x%+6x-1=0 given
that the roots are in H.P.

6x° ~11x% +6x-1=0 erénp sweLM igen apaiser
H.Pk-é e erenen erafled iFsioamim_an_ Sirés.

Solve the equation x*-11x2 +2x+12=0 given

that +/5 -1 is a root.

xt —112% +2x +12 =0 erémp swemm g6 R apeLd

)\W.JH Qar@éstiu@eterg eraflld @FswamLm el 6.

Erés. .

If @B,y are the roots of x°+px®+qx+r=0
prove that (@ + B)(B+7)(y +a)=r-pq.

x® + px? + gx+r=0 erénp swETLT IneT APOEIGET
a,f,y aafle Aa+bv€+lo\+nvu~.lg erewt
Hlemrql.

nape)

Prove that
s 11.
n+l  2n A 2n H Hﬁ 2n wm
log = +— -| +— +...00
n-1 n*+1 3\n%’+1) 5\n?+1
n+l  2n Hﬁ 2n uw Hm 2n wq
log = +— — [ += | +..0
n-1 n?+1 3\n’+1) 5\n?+1 12.
ereu Hlemdl.
in7 .
Expound s 74 in terms of cosé.
siné :
el - cosd -én o glisemns efleuflss.
sin @ :
13.
3 & —
Evaluate mslmsa muba.
0 gindy
. :BE -ar wélienud serBihy.
20 gin®y
If tand, 2624 find @ approximately. 14.
7] 2523
SHEwuwm crafled @ -ar _bm:umsc Qu:qqi_b:mw
6 2523
sty
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- Poper 3 ey and ﬁ__.@oas%,\, I

Solve the equation x* —10x% +26x% -10x+1=0.

x* —10x% +26x% -10x+1=0 GTem  FLDETUML_ Gl

Srés.

If x be 8o small that the squares and higher
powers of x may be neglected prove that
(9-2x)"*(3 + 4x) _g, T4x neasly

-x 5 .

x Bss Aflug aafld oigar Qrar® wHmb <IsHE

1/2
Aw ~2x) Aw.+ 4x) —94 T4x

@”_.....R ..Wv

Cupul L ugsmer B&d

ereut BlemLal.
1 1 1
e l_.+|_|+|~.+ o0
Prove that E4 L NH M m
R
1! 3! 5!
1 1 1
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3tanhx +tanh®x
1+3tanh’x

3tanhx +tanh’x
1+3tanh®x

Prove that tan h?x =

tanh’x = eren Hlemq.

Show that :
16 cos h°8 = cos h560 + 5cos h36 +10 cos ho .

16 cos h®@ = cos h50 + 5 cos h36 + 10 cos hé eren .%@_b.

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

If @, B,y are the roots of the equation x® + qx +r =0
from the equation whose roots are a?, §2,52.

X +qx+r=0 erémp sweLT T aposd a,f,y
aafles @, 5%,y -g pomsemss Qsran® @
FLOGTLITL GIL_ BIEnLOES.

Find the equation whose roots are the roots of the
equation 4x* +32x +83x% +76x+21=0 increased
by 2 and hence solve the given equation.
4x* +32x° +83x% +76x+21=0 erémp sweIM e
gpomismar 2-96 fleflEgh QuTips 2 (HeurEid
FLoemUT_enL- seRrHiligdseid. Cogitd Qar(ésriL_ [Herar
ST et WD SiTEsayLb.
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15.

16.

17.

21.

22,

23.

24.

Sum to infinity the series.

18.
2.6 3.7 4.8
54—+ —+—+...0.
TP
2. 7T 4,
m+|m._....w|.+|m+...8 eramm  piyefleor Ggm_ler
T {2 [3
gl (HSASTnEMLE STeHTE.
Show that
19.
ﬁH_JH ﬁ JH ﬁ JH
14—+~ |—+|—+—|—+|—4+—|—+..0=
2 3/4 \4 5)4* 6 7)4°
._om,\,mm
q JH hH JH ﬁ. JH
14| =+—|—+|—+—|—+|—+—|[—+..0=
2 3/)4 \4 5)4® \6 T7)4°
= Hom)\m
era Hlemid. ! 20.
Expand cos66 in terms of siné.
cos66 -g sin @ -em 2 misenTs afauilss.
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Solve 6x® - x* —43x® +43x2 +x-6=0.
6x° —x* = 43%° + 43x% + £ — 6 = 0 -g3 Siréis.
Sum to infinity the series
1.3 1.3.5 1.3.5.7
+ - +...0
2468 2468.10 2.4.6.8.10.12
1.3 1.3.5 1.3.5.7 ]
+ + +...00 eTeuTm

2468 246810 24.6.8.10.12
wgeler Agrfler sl Hs0sTansmLS STaRTS.

Expand sin® @cos* @ in terms of sines of multiples
of 6. .

sin® @ cos* 6 -g sin 6 -én 2 giseTTE NeuMés.

If tand =tanhxcoty and tang =tanhx tan y and

S sin20 cosh2x +cos2y

sin 24 "~ cosh2x —cos2y .

tanf =tanhxcoty HmD
sin20 cosh2x +cos2y

tang =tan haxtan y
erafled

= era Blemial.
sin2¢ cosh2x—cos2y 8

7 72001/SAM1A/
TAB1A

x
If tan—=tan }N prove that, sinhy=tanx and
2 2

y=log »EAN+MW :

4 2
gbm = gb}N eraflev
2 2

T X

y=log gbﬁl + Iu erar HlemLa.

sinhy=tanx  wHMID

4 2

If sin!(x+iy)=a +if show that sin’a, cosh’g
are the roots of A% - \% +x2 +.emv+ x*=0.

sin(x +iy)=a+if aefle sin’a, cosh?f <fAw

@rer®imn 22 I\w@+xm +.vkv+.gN =0
FLOGTUIM_iq & ppEBISET eTen Hlemi95s.

=)

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Using Horner’s method find the real root of the
equation x®+29x-97=0 correct to two places of
decimals.

apmient apeper LweL@SE x> +29x-97=0
erenmp swenumLiger Gl posms QraT(H S0
S w580MES SHerT([H)Ls .
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